Best model for HELP J022419.777-053643.672 at z = 1.346 x*=0.79

OPTx2=0.61 IRy?=1.64 threshold (OPT IR)=18.76 [um]

2 -
10 . Stellar attenuated
] S D Stellar unattenuated
1 . [] —— Dust emission
10 . —— AGN emission
1 = Model spectrum
0 _' : ® Model fluxes
10 3 : M oObserved fluxes
21071 - :
S 1]
X DN . gt .
5 1072 ¥
[T 3
10—3 .
1074 5
< ]
075 3
Tju ] == (Obs-Mod)/Obs
S ] =T
P ]
] o e -] e e —————————————
bt ]
" ]
2 ]
5 i
r_u—]_ — T — Ty
& 100 10! 102 103

Observed wavelength [um]

T CIGALE



